
Formulário de Estat́ıstica

Medidas descritivas

µ =

∑
i yi
n

σ2 =

∑
i(yi − µ)2

n
=

∑
i y

2
i − ny2

n

y =

∑
i yi
n

S2 =

∑
i(yi − y)2

n− 1
=

∑
i y

2
i − ny2

n− 1
CV = 100

S

y

χ2 =
∑
i

(oi − ei)2

ei
C =

√
χ2

χ2 + n
C ′ =

√
χ2/n

(r − 1)(s− 1)
C ′′ =

C√
(t− 1)/t

r =
1

n

n∑
i=1

(
xi − x
sx

)(
yi − y
sy

)
=

∑
i xiyi − nxy√

(
∑
i x

2
i − nx2)(

∑
i y

2
i − ny2)

Y = g(X)→ fY (y) = fX(g−1(y))

∣∣∣∣dg−1(y)

dy

∣∣∣∣

Probabilidades

µY = E[Y ] =
∑
i

yiP (Y = yi) σ2
Y = V ar[Y ] =

∑
i

(yi − µy)2P (Y = yi)

µY = E[Y ] =

∫
yfY (y)dy σ2

Y = V ar[Y ] =

∫
(y − µy)2fY (y)

Distribuições de Probabilidade
Distribuição Fç de Probabilidade/Densidade Domı́nio E[Y] Var[Y]
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ç
a

e
T

e
st

e
s

d
e

H
ip

ó
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